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WHA—NEEEG=(V, E) E A, L5 V FHAREN WA, # uwe E &
TAEFERuAEvHE, FEGFLEESMNAMAEV FHAR EREE
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N'P M'C  OC

# N'M’ ) BC.
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sin /ZNOT  sinZT'NO-NT/TO  sinZTNO  sinZOMN

sin /ZMOT — sinZTMO-MT/TO — sin ZTMO — sin /ONM
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7. 4B H Q L8 =555 AjAy, BBy, C1Cy EABTFAT, M A Q E—& &
% AIM, ByCy RF 5 X, & BIM, AsCo XT &Y, H& O\ M, ByAy X T 5
7. Kik: X, Y, 7 £%.
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B>

C, Y

WERA H1 A1 Ay ) BiBy 1 A1 By = Ay By, 3T
LXMY = LA MB, = ZA;CyBy = £X (Y,
WX, Y, M, Cy DY LR, M
LXYM = LXCoM = £ByCoM = £ByBi M,

W XY )| B Bs. (1)

@
C Y

1

FAl A
Ay Ay ] C1Cy = ALCy = AyCY
= LXByZ = 180° — LAyByCy = LA MCy = 180° — LXMZ
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N(]
LXIM = /XBoM = £CyBoM = £C2,C M,

W X7 [ C\Cs. (2)
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WEF W LERE L XY Z 8 ANAByCy, 7 52 F) Menelaus & 3 5k 4 A 7L

8. [ # T, Yy, 2 HE0 < r, Yy, z <1. /kal];ﬁli‘i\.é/Jﬁ/J\’fﬁ
ryz(z+y+2) + (zy + yz + 22)(1 — 2yz2)

xyz/1 — zyz

R R ERIE N .

o<z, vy, 2<1%1—2yz > 0. Niff HMEAZERS0

2\/xyz(x +y + 2)(zy + yz + 22) (1 — 2yz)
xyz/1 — zYyz

_y (x+y+2)(xy+yz+ zx)
N TYz

[z

= 6.

3¥Tyz - 3¢/ (2y2)?
>2J Yy (zy2)

TYZz
B—HH,Lr=y=2=t,HFtec (0, 1), P +2=1(HFt=00+>=0,
t=10 3+ 12 = 2, MU A E B BLRX R ¢ 777E), SRRy

f:t3'3t+3t2-(1—t3)_t3-3t+3t2~t2:

BV1I—1 o BVe

CIRYS:ER)
El‘& fmin = 6. U

Wt GiEH fRARNMEr=y=2 TEAS) FTFHART AEHHE
TEXR#THE, ML E VT —oyz (KA X8 BT K5 5/ME

9. M IEEHK an, & fla,n) £ T modn &X T i#H & 219710 = a
(mod n) 89+ LKA (x1, 12, -+, T10) BWAE. (JF: modn B X Fg & X &
i, v; = y; (mod n), il (z1, T2, -+, T10) 5 (Y1, Y2, =+, Y10) ?}M’Fﬁ]*éﬂ%‘k.)

X oa, bhEELH
(1) IE8: Afe E¥A o, A7 L) R 55 R H
(2) KB 49 EEH (a, D), 4 ﬁm&% (1) 1l & 449 ¢ 8 R IME A 27,
1 JEiEDIJLA 5l
gl 1 XIEEH a, n, 0, & (n, n') =1, 1
f(aa nn,) = f(aa TL) ’ f(a7 n/)'

WA B (n, n') =18, % 21, 29, -+, 119 € Z, 21279+ -T10 = a (mod nn’)

www.nsmath.cn 12



78 SR A
T2 xro=a (modn) H zyze-- 250 =a (mod n').

N (n, n)=1580%Fi=1,2, -, 10, z; B nn’ BIREH 2; B n, n/ FREE
— Wi e, MOE—H iy yi0 = a (mod n) X—H 2125+ 210 = a (mod n),
PEME—X N —H 2120 210 = a (mod nn'), HH z; = y; (mod n), z; = 2
(mod n'), 1=1, 2, ---, 10.

MM f(a, nn') = f(a, n) - f(a, n'), 713 1 1FiE!

g1 # 2 XIE¥H a, o, n 3 (d, n) =1,

flad', n) = f(a, n).

W B (n, d)=1%0,% 21, 29, -+, T10 € Z, 1129+ 719 = a (mod n)
oS USSR

(x1a")x9 - 210 = aa’ (mod n).

XH (n, o) =150, X8 n @ SCRAFER) 2, R 210" 1 n RECAE], HooE:
—H zxy - x0=a (mod n), He M — X N — 4 Y12 -+ - Y10 = aa’ (mod n) Hrh
y1 = xad’ (mod n), y; = x; (mod n), i =2, 3, ---, 10.

M f(ad', n) = f(a, n), 513 2 15iF!

I1# 3 BN NIERE p1ps, - oy BRAFRRE, aq, 00, aw, Br, fa,
oo, By AR UREEL, U

f (pi”pgz c PR, Pl --~prN> =11 (p?i, p?)-

R ERE,

—

f (pi”pSQ N, PR ~p§N) =11+ <pi"1p§2 PRy, pfi> (FH5I7 1)
=1

—

f (p?‘i, pfi)(ﬂaélfiz ),

1

1

W53 3 AR

gl 4 WEHp, EREE o, 8,4 o< 6,1
a a+9 _
st )= (3 7) =1,
W X o= 1,2,---,10, W z; = A - p% (modp?), Herh \; € Z1,6; €
N: >\l 'pei S [17 pﬂ] ) p+A17 )\’L € [1? Pﬁ_g’} : IJI\IJ

T1Ty -+ 19 = M A+ Ay - pM T (modp”) |
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Wiy -+ 10 = p* (modp?) T EL K2
M2+ A =1 (modp”™*) H b+ 024+ 610 =
JEHE (01, O, -+, Or0), FEH (°07) d; FATHL (A1, Aoy -+, Ng), 3EH
lg[ ¢ (pP~0) 4.
O OXFFEUER (01, Os, -+, B0, My Aoy -, Ag), Aso MR Mg € [1, pP=0] |

pjf )\107 H
(A1d2 -+ Ag) - Ag = 1 (modp” %),

i‘ZﬁéE/‘J >\10 E{‘J/l\iﬁ% paielov }‘}\ﬁﬁ7 Xﬂ‘ﬂ:ﬁyi—éﬁg (017 02a T 7910)7 ()\17 )\27 e a>\10)
AN

1) -

9
=<[H@—1yﬁﬁrﬂ> PO (AR i =1,2---,9 B—60;>B—a>1)

=1

—(p— 1)° PPNt sain)
BEIT (A1, Mgy -+, Aao, 01, O, -+, O10) KIDNECN (Q;Q) S(p—1)7 - p?B-D L

f*, p°) = (a;r9) (p—1)7 - p?PY,

53 4 F3IE!
1 5 XEREp, LB A
10t = (730) e
LB % 5 =0, N
f@% ) =1, ) =1>@p-1)"p,
A7 Y
NS> 1 UEHGIEE 4 RRE A LS, WX 2, 20, -+, 210 € Z, 3129
- x19 = p? (modp?) MJ— TG AT

O+ 0+ +0g<p Hbg>p—01—0—-—b
9
SEHTE (01, 0o, -+, 00), 3 (P5°) HLFAEEL Ay, Ao, -+, ho), 38 [T (p7%) 4.
=1
EFBUEH (61, 02, -+, B, My Aoy -+ Ao), (Br0, Mao) B

pﬂ_gl_.,._gg |p910)\107 E_pelo/\lo E |:]_7 pﬂ] 9
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